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200 Questions

Que. 1 Directions: Read the following information carefully and answer the questions that follow:
There are 9 persons A, B, C, D, E, F, G, H and I who were born in three different months January, June

and December of the same year but not necessarily in the same order. Not more than three persons were born in
one month. C and H were not born in the month of June. D and I were born in a month having 30 days. E and A
were born in a month having 31 days but not in the first month of the year. B was younger to F but elder to G.
Who was born in January?

Correct Option - 5

D1.
A2.
B3.
G4.
F5.

Que. 2 Who was born in December?

Correct Option - 4

F1.
H2.
C3.
E4.
I5.

Que. 3 Who was born in having 30 days?

Correct Option - 1

D1.
A2.
F3.
E4.
C5.

Que. 4 Which of the following is not the correct pair?

D – June1.
A – December2.
C – December3.
F – January4.
G – December5.



Correct Option - 3

Que. 5 Who were born in June?

Correct Option - 4

D1.
C2.
B3.
Both 1 and 34.
Both 2 and 35.

Que. 6 Direction: Read the following information carefully and answer the questions that follow:
Eight kids of 5-13 age group A, B, C, D, E, F, G and H were sitting in two rows but not necessary in the

same order. Kids who were sitting in row 1 were facing towards the south and person in row 2 were facing
towards the north.
Age of F was not a square number. H was sitting third to the right of D who was the youngest kid. Age of F was
not a square number. D was facing the kid who was 8 years old. Neither D nor A were facing towards the south.
G and C were immediate neighbour and difference between their ages was 6. A was 10 years old and he was
sitting opposite to F who was an immediate neighbour of E. Age of E was a cube number. B was 13 years old and
he was 6 years elder than the kid who was sitting his immediate right. F was elder to C but younger to G.
What is the sum of ages of B and F?

Correct Option - 1

241.
202.
253.
124.
135.

Que. 7 Who was sitting diagonally opposite to H?

Correct Option - 3

F1.
H2.
E3.
D4.
Cannot be determined5.

Que. 8 What was the age of H?

71.
62.
133.
124.



Correct Option - 1

55.

Que. 9 Who was sitting opposite to B?

Correct Option - 5

A1.
C2.
G3.
H4.
Cannot be determined5.

Que. 10 Who is 11 years old?

Correct Option - 5

B1.
C2.
D3.
E4.
F5.

Que. 11 Direction: Read the following information carefully and answer the questions that follow:
A group of six students G, H, I, J, K and L are sitting around a circular table facing the centre. They

belong to the different city, Delhi, Mumbai, Goa, Shimla, Kolkata and Chennai.
L is sitting to the immediate left of K. I doesn’t belong to Kolkata. Neither K nor L belong to Delhi. K is sitting
opposite to G who is from Mumbai. H who is not from Goa and Kolkata, and is sitting to the immediate right of
G. J is from Goa and is sitting opposite to the person who is from Delhi. A person who belongs to Shimla is
opposite to the one who is from Kolkata. 

Who is sitting third to the right of the person who belongs to Goa?

Correct Option - 5

G1.
I2.
k3.
L4.
H5.

Que. 12 Who belongs to Shimla?

L1.
K2.
H3.



Correct Option - 4

I4.
G5.

Que. 13 Who is sitting second to left of I?

Correct Option - 1

K1.
G2.
H3.
J4.
I5.

Que. 14 Who is from Delhi?

Correct Option - 1

H1.
G2.
J3.
K4.
I5.

Que. 15 Who among the following belongs to Kolkata?

Correct Option - 3

J1.
K2.
L3.
H4.
G5.

Que. 16 Directions: Read the following information carefully and answer the questions that follow:
In a bank meeting, the six bank employees (A, B, C, D, E and F) were sitting from left to right in their

hierarchy order: Managing Director, Executive Director, Chief General Manager, General Manager, Assistant
General Manager and Divisional Manager. They belong to different cities, G, H, I, J, K and L.
The Chief General Manager and the Assistant General Manager belong to city J and K but not in the same order.
E is neither Divisional Manager nor Chief General Manager. F is neither Chief General Manager nor he is from
city K. The person who is Divisional Manager is not from city H. The person who is Executive Director belongs
to city L. Neither the B nor C belong to city I. B was neither Executive Director nor Divisional Manager. Four
people were sitting between A and D. C was sitting third to the right of D. Neither E nor B was sitting between
The General Manager and Divisional Manager. Four employees sit between the one who belongs to city H and I.
Who was sitting immediately left to the General Manager?

The person who is form city J1.



Correct Option - 3

The person who is form city G2.
The person who is form city K3.
The person who is form city I4.
The person who is form city L5.

Que. 17 How many persons were sitting between A and B?

Correct Option - 2

One1.
Two2.
Three3.
Four4.
Five5.

Que. 18 What was the designation of D?

Correct Option - 3

Executive Director1.
Chief General Manager2.
Managing Director3.
Divisional Manager4.
Assistant General Manager5.

Que. 19 How many people were sitting between Assistant General Manager and C?

Correct Option - 3

One1.
Four2.
Zero3.
Three4.
Cannot be determined5.

Que. 20 Who belong to city K?

Correct Option - 2

A1.
B2.
C3.
Cannot be determined4.
None of above5.



Que. 21 Six students A, B, F, G, K and M are standing in a row (not necessary in the same order). B is taller
than F but shorter than G. A is neither tallest nor shortest. G is Shorter than A. M is not tallest. Who

among them is Shorter than F?

Correct Option - 5

G and B1.
A and K2.
Only M3.
Only B4.
Cannot be determined5.

Que. 22 Direction: In each of the following questions two statements are given and these are followed by two
conclusions I and II. You have to take the given statements to be true even if they seem to be at

variance from commonly known facts. Read all the conclusions and then decide which of the given conclusions
logically follows from the given statements disregarding commonly known facts.
Statements:
Some TVs are LEDs.
All the computer are LEDs.
Conclusion:
I. Some LEDs are computer.
II. Some LEDs are TV.

Correct Option - 5

Only I follows.1.
Only II follows.2.
Either I or II follows.3.
Neither I nor II follows.4.
Both I and II follow.5.

Que. 23 Direction: In the following question, a given question is followed by information in three statements.
You have to decide the data in which statement (s) is/are sufficient to answer the question and mark

your answer accordingly.
How is F related to S?
I. F is the husband of A and S is the son of B.
II. F is the father of E and D is the sister of S.
III. F is the husband of S’s father’s sister.

Only I is sufficient1.
Only II is sufficient2.
Only III is sufficient3.
Only I and II are sufficient4.
Insufficient data5.



Correct Option - 3

Que. 24 Direction: In the following question, a given questions is followed by information in three statements.
You have to decide the data in which statement (s) is/are sufficient to answer the question and mark

your answer accordingly.
S, T, U, V, W, X and Y are seven friends. Who is fourth tallest among these friends if they are arranged in
ascending order as per their heights?
I. X and Y are taller than U.
II. X is taller than U but shorter than S. W is tallest.
III. V is shorter than T but taller than S. Y is taller than T.

Correct Option - 5

Only I is sufficient1.
Only II is sufficient2.
Only I and II are sufficient3.
Only I and III are sufficient4.
Only II and III are sufficient5.

Que. 25 Direction: The following question is followed by information given in three statements. You have to
decide the data in which statement (s) is/are sufficient to answer the question and mark your answer

accordingly.
A building of Samsung company has 5 floors (numbered as 1 to 5) with different products on each floor. Ground
floor is numbered 1 and topmost floor is numbered 5. Mobile products are on which floor?
I. Mobile products are not on the floor 3.
II. Mobile products are on the floor which is 2 floors below the floor of Laptop products and Laptop products are
neither on the floor 5 nor on 3.
III. Mobile products are neither on the topmost floor nor on the lowermost floor.

Correct Option - 2

Only I is sufficient1.
Only II is sufficient2.
Only III is sufficient3.
Only I and III are sufficient4.
Insufficient data5.

Que. 26 Direction: In the following question, a given question is followed by information in three statements.
You have to find out the data in which statement (s) is sufficient to answer the question and mark your

answer accordingly.
A, B, C, and D are sitting from left to right in the descending order with respect to their weight. Who is at the
right end?
I. A is heavier than B.
II. C is heavier than D.
III. C is heavier than B.



Correct Option - 5

Statements II and III together are sufficient.1.
Statement I alone is sufficient.2.
Statement II alone is sufficient.3.
Statement III alone is sufficient.4.
Data insufficient.5.

Que. 27 In a row of 40 students, A is 13th from left end. What is his place from the right end?

Correct Option - 2

271.
282.
293.
304.

Que. 28 Directions: Study the following information carefully and answer the given questions.
A word and number arrangement machine when given an input line of words and numbers rearranges

them following a particular rule in each step. The following is an illustration of input and rearrangement.
Input: can cat hat 45 71 93 taken 16
Step I: 16 can cat hat 45 71 93 taken
Step II: 16 taken can cat hat 45 71 93
Step III: 16 taken 45 can cat hat 71 93
Step IV: 16 taken 45 hat can cat 71 93
Step V: 16 taken 45 hat 71 can cat 93
Step VI: 16 taken 45 hat 71 cat can 93
Step VII: 16 taken 45 hat 71 cat 93 can
And step VII is the last step of the rearrangement.
As per the rules followed in the above steps, find out in each of the following questions the appropriate step for
the given input.
Input: Keep 20 116 honey dell 68 54 yarn
How many steps will be required to complete the rearrangement?

Correct Option - 3

Three1.
Four2.
Five3.
Six4.
None of these5.

Que. 29 Input: belly 57 catch 21 book 43 boy 7
Which of the following steps will be the last but one?



Correct Option - 4

V1.
IV2.
VII3.
VI4.
None of these5.

Que. 30 Step III of an input is: 25 good 45 dartbow bull 83 64
Which of the following will definitely be the input?

Correct Option - 4

45 dartbow bull 83 64 good 251.
45 dartbow bull 83 64 25 good2.
45 dartbow bull 25 good83 643.
Cannot be determined4.
None of these5.

Que. 31 Step II of an input is: 5 yell 59 48 melon poll 69 out
How many more steps will be required to complete the rearrangement?

Correct Option - 4

Five1.
Six2.
Seven3.
Four4.
None of these5.

Que. 32 Step III of an input is: 24 tin 48 91 60 may get fill
Which of the following will be step VI?

Correct Option - 3

24 tin 48 may 60 get fill 911.
24 tin 48 may 60 91 get fill2.
24 tin 48 may 60 get 91 fill3.
There will be no such step4.
None of these5.

Que. 33 Direction: Study the following information carefully and answer the questions given below:
K is the sister of H. I is the son of G. J is the mother of H. G is married to K. H is the father of M. L is

married to J.
If H is married to N, then how N related to K?



Correct Option - 3

Mother1.
Sister2.
Sister-in-law3.
Daughter4.
Mother-in-law5.

Que. 34 How is I related to M?

Correct Option - 5

Brother1.
Sister2.
Father3.
Maternal Uncle4.
Cousin5.

Que. 35 How is L related to G?

Correct Option - 4

Father1.
Uncle2.
Brother3.
Father-in-law4.
Son5.

Que. 36 Directions: Study the information given below carefully and answer the questions that follow.
A, B, C, D, E, F, G, H and I are nine Temples. C is 4 km East of B. A is 2 km North of B and H is 4 km

South of A. G is 2 km West of H while D is 6 km East of G and F is 4 km North of G. I is situated just in the
middle of B and C while E is just in the middle of H and D.

What is the distance between Temple E and Temple G?

Correct Option - 4

1 km1.
1.5 km2.
2 km3.
4 km4.
5 km5.

Que. 37 What is the distance between Temple E and Temple I?

1 km1.



Correct Option - 2

2 km2.
3 km3.
4 km4.
5 km5.

Que. 38 What is the shortest possible distance between B and E?

Correct Option - 3

1 km1.
2 km2.
2√2 km3.
4√2 km 4.
3√2 km5.

Que. 39 In a certain code language, 'JULY' is written as '9 - 20 - 11 - 24'. How is 'AUGUST' written in that code
language?

Correct Option - 4

1 - 20 - 6 - 20 - 18 - 191.
0 - 20 - 5 - 20 - 18 - 192.
0 - 20 - 6 - 20 - 14 - 193.
0 - 20 - 6 - 20 - 18 - 194.
Both 1 and 25.

Que. 40 How many such pairs of letters are there in the word MONOPOLY each of which has as many letters
between them in the word (in both forward and backward directions), as they have between them in the

English alphabetical series?

Correct Option - 2

Seven1.
Six2.
Five3.
Four4.
Eight5.

Que. 41 A box contains 20 balls with random numbers and having an average of 34. When one ball is drawn at
random from the box, the average of the remaining balls is reduced to 31. What was the number on the

ball drawn out from the box?

191.
332.



Correct Option - 5

573.
744.
915.

Que. 42 In a town 76% of people decided to vote for candidate X and remaining for candidate Y. But X only
got 1518 votes as some people changed their mind and voted for candidate Y and some even did not go

for voting. Because of this, the vote share of Y got increased by 25%. If the number of people who did not go for
voting constitutes 11.11% of the number of votes by which X won election. Then the population of town was?

Correct Option - 2

16251.
23002.
42503.
32504.
15755.

Que. 43 A shopkeeper bought milk at rate of Rs. 26 per litre. He mixed water and sold the mixture for Rs. 26
per litre and gains a profit of 30%. If he bought milk worth Rs. 2,028, then what is the amount of water

added?

Correct Option - 3

26.3 litres1.
25.78 litres2.
23.4 litres3.
20.2 litres4.
None of the above5.

Que. 44 Directions: Study the paragraph and answer the questions that follow.
A man runs his own transportation business. He owns 3 auto-rickshaws, 4 cars and a truck. On each

ride of an auto-rickshaw, he earns a profit of Rs. 20. Similarly, on each ride of a car, the profit earned is Rs. 40. A
profit of Rs. 110 is earned on each ride by the truck. In the month of April 2018, each auto-rickshaw took equal
number of rides on all the days of the month. Similarly, the number of rides taken by each car was also same on
each day of the month. While, the number of rides taken by an auto-rickshaw and a car in the month of April is in
the ratio 3 ∶ 2. At the end of the month, the man earned a total profit of Rs. 436200 from all the three types of
vehicles, out of which a profit of Rs. 46200 was earned by the truck alone.
Find the ratio of the profit earned by the 3 auto-rickshaws and 4 cars in the month of April.

2 ∶ 31.
3 ∶ 42.
8 ∶ 93.
9 ∶ 44.
9 ∶ 165.



Correct Option - 5

Que. 45 Find the total number of rides taken by 4 cars in the month of April?

Correct Option - 3

46801.
59602.
62403.
74104.
85805.

Que. 46 The profit earned by each truck ride remained the same in May as was earned in April. If the man
earned a profit of Rs. 57970 from the truck in the month of May, how many more rides did the truck

took per day as compared to the month of April?

Correct Option - 2

21.
32.
43.
54.
Couldn’t be determined5.

Que. 47 Directions: Study the paragraph and answer the questions that follow.
A man runs his own transportation business. He owns 3 auto-rickshaws, 4 cars and a truck. On each

ride of an auto-rickshaw, he earns a profit of Rs. 20. Similarly, on each ride of a car, the profit earned is Rs. 40. A
profit of Rs. 110 is earned on each ride by the truck. In the month of April 2018, each auto-rickshaw took equal
number of rides on all the days of the month. Similarly, the number of rides taken by each car was also same on
each day of the month. While, the number of rides taken by an auto-rickshaw and a car in the month of April is in
the ratio 3 ∶ 2. At the end of the month, the man earned a total profit of Rs. 436200 from all the three types of
vehicles, out of which a profit of Rs. 46200 was earned by the truck alone. consider all months have 30 days.
The profit earned by each auto-rickshaw ride remained the same in May as was earned in April, but increased by
40% in the month of June. If the total number of rides taken by an auto-rickshaw in the month of May and June
is in the ratio 4 ∶ 5, then the total profit earned by an auto-rickshaw in June is what percentage more than that in
May?

Correct Option - 4

25%1.
40%2.
50%3.
75%4.
80%5.

Que. 48 Directions: Study the paragraph and answer the questions that follow.
A man runs his own transportation business. He owns 3 auto-rickshaws, 4 cars and a truck. On each

ride of an auto-rickshaw, he earns a profit of Rs. 20. Similarly, on each ride of a car, the profit earned is Rs. 40. A



profit of Rs. 110 is earned on each ride by the truck. In the month of April 2018, each auto-rickshaw took equal
number of rides on all the days of the month. Similarly, the number of rides taken by each car was also same on
each day of the month. While, the number of rides taken by an auto-rickshaw and a car in the month of April is in
the ratio 3 ∶ 2. At the end of the month, the man earned a total profit of Rs. 436200 from all the three types of
vehicles, out of which a profit of Rs. 46200 was earned by the truck alone.
In the year 2017, the average number of rides on each day taken by an auto-rickshaw, a car and the truck is 50, 45
and 12 respectively. If the profit earned on each ride of the respective vehicles was the same as in April 2018,
find the average monthly profit earned by the man in the year 2017?

Correct Option - 2

Rs. 3462001.
Rs. 3504002.
Rs. 3628003.
Rs. 3786004.
Rs. 3880005.

Que. 49 The following question has three statements. Study the question and the statements and decide which
of the statement(s) is necessary to answer the question.

A departmental store sold a product for Rs. 1620. Find the cost price of the product.
I) The store marked the price of the product 35% above its cost price.
II) The product was sold at a discount of 20% on the marked price.
III) The store earned a profit of 8%.

Correct Option - 3

Either I or II and III1.
Either II or I and III2.
Either III or I and II3.
Any two4.
All three5.

Que. 50 The following question has three statements. Study the question and the statements and decide which
of the statement(s) is/are necessary to answer the question.

Find the average of the two numbers.
I) 6 times the smaller number is 4 more than 4 times the larger one.
II) 1/2 of the smaller number is 3 more than 1/5 of the larger one.
III) 2 times their difference is 2 less than the smaller number.

Correct Option - 2

Only I1.
II and either I or III2.
Only III 3.
Only II4.
None of these5.



Que. 51 The following question has three statements. Study the question and the statements and decide which
of the statement(s) is necessary to answer the question.

What is Ankit’s current monthly salary?
I) On receiving an increment of 8%, his monthly salary will be Rs. 70200.
II) On receiving an increment of 12%, his yearly salary will be Rs. 873600.
III) Before receiving an increment of 30% last year, his monthly salary was Rs. 50000.

Correct Option - 3

Only III1.
Either I or II2.
Any one3.
Any two4.
All three5.

Que. 52 The following question has three statements. Study the question and the statements and decide which
of the statement(s) is necessary to answer the question.

A man makes a payment in cash using Rs. 2000, Rs. 500 and Rs. 100 notes. Find the amount paid by him.
I) The number of notes is in the ratio 6 ∶ 3 ∶ 2 respectively.
II) He paid Rs. 4500 in terms of Rs. 500 notes.
III) He paid Rs. 600 in terms of Rs. 100 notes.

Correct Option - 1

I and either II or III1.
II and either I or III2.
III and either I or II3.
Any two4.
All three5.

Que. 53 The following question has three statements. Study the question and the statements and decide which
of the statement(s) is necessary to answer the question.

Find the value of ‘x’.
I) The average of x, y and z is 41.
II) x is 30% of y and 40% of z.
III) The sum of y and z is 3 less than 6 times of x.

Correct Option - 4

I and II1.
I and III2.
Any one3.
Any two4.
All three5.

Directions: These questions are based on the following graph.



Que. 54 The following graph shows the total monthly income and monthly expenditure of eight families – P, Q,
R, S, T, U, V, and W.

Savings = Total income - (Grocery expenses + Utility bill expenses)

For how many families is the ratio of savings to utility bill expenses more than 1.4?

Correct Option - 2

41.
32.
63.
54.
85.

Que. 55 What is the percentage point difference between the percentage savings of P and W?

Correct Option - 2

35 - 24% 1.
40 - 28%2.
26 - 16% 3.
28 - 16%4.
None of these5.

Que. 56 By what percentage is the savings of family P more than that of family U?

Correct Option - 4

120%1.
160%2.
175%3.
140%4.
110%5.



Que. 57 For how many families is the grocery expenses more than 60% of the total income?

Correct Option - 2

41.
32.
53.
24.
15.

Que. 58 For which of the given families is the percentage savings the second lowest?

Correct Option - 4

S1.
Q2.
R3.
U4.
P5.

Que. 59 A wholesaler who is selling fruits in wholesale market offers a cash discount of 30% for his customers.
But in the entire deal he is still able to make a profit of 15%. In the whole deal he allows 20 apples to a

dozen for his customer. How much percent above the cost price were his fruits were marked?

Correct Option - 1

173.8%1.
195.8%2.
186.9%3.
159.8%4.
159.9%5.

Que. 60 A, B and C started a business in partnership with investments of Rs 12000, Rs 26000 and Rs 32000
respectively. After 4 months A leaves. After 6 months B leaves and A joins with an equal amount equal

to his earlier investment. After 10 months, C leaves and B joins with his prior investment. At the end of the year
they earn a profit of Rs 53622. Find the share of B in the annual profit.

Correct Option - 2

172211.
172122.
172223.
182124.
None of these5.

Que. 61



A sum of Rs. 10,000 is lent out in two parts in such a way that the simple interest on one part at 8% for 3 year is
equal to that on the other part for 12% for 1 year. The sum lent out at 12% is ______

Correct Option - 1

6666.671.
3333.342.
5412.73.
4587.34.
None of the above5.

Que. 62 The length of a rectangular plot is 7/3 times its breadth. A person takes 16 minutes to complete a round
walking along the rectangular dimension of the park at the rate of 24 km/hr. What is the perimeter of

the rectangular plot in metres?

Correct Option - 4

1600 m1.
3200 m2.
4800 m3.
6400 m4.
None of these5.

Que. 63 Directions: The given table shows the total number of emails received by a company in the five
weekdays. It also gives the percentage of the read emails that were replied by the reader on the

respective days. Study the table and answer the questions that follow.

  Total number of
emails received

Percentage of read
emails that were

replied

Number of spam
emails

Monday 428 - 48
Tuesday 493 30% 53

Wednesday 542 - 22
Thursday - 25% 40

Friday 465 - 17
 
Note:
I) Total number of emails received = Number of read emails + Number of spam emails.
II) Spam emails were not read.
If the number of emails read on Monday and Thursday is in the ratio 19 ∶ 18, and the number of emails replied on
Monday and Thursday is in the ratio 38 ∶ 45, then what percentage of the read emails were replied by the reader
on Monday?

10%1.
15%2.
20%3.
25%4.



Correct Option - 3

30%5.

Que. 64 If the total number of emails replied on Tuesday and Wednesday is 3 more than 20% of the total
number of emails received in Tuesday and Wednesday, then what is the difference between the number

of emails replied on Tuesday and Wednesday?

Correct Option - 3

421.
482.
543.
604.
665.

Que. 65 The number of emails that were replied on Thursday is what percentage more than the number of spam
emails received on Thursday, if the total number of emails received on Thursday is 4 more than 220%

of the total spam emails received in the five weekdays?

Correct Option - 3

75%1.
100%2.
125%3.
150%4.
200%5.

Que. 66 If the number of read emails that were not replied on Friday and that on Tuesday is in the ratio 12 ∶ 11,
then what percentage of the read emails were replied on Friday?

Correct Option - 5

5%1.
10%2.
15%3.
20%4.
25%5.

Que. 67 On Saturday, 90% of the received emails were read out of which only 10% were replied. If only 18
emails were replied, then the number of spam emails received on Saturday is what percentage of the

total number of spam emails received on all six days?

4%1.
5%2.
8%3.
10%4.



Correct Option - 4

12%5.

Que. 68 A man borrowed Rs.80000 at a simple interest of 5% per annum. After 5 years, he deposited an amount
of Rs.50000, and the interest on the remaining amount was computed at a rate of 10% per annum

compounded annually. After 2 years, he was given a rebate and he cleared his debt by paying Rs.55000. How
much money was rebated?

Correct Option - 3

Rs.40001.
Rs.50002.
Rs.55003.
Rs.75004.
Rs.80005.

Que. 69 Jose travels from the place A to place B at a certain speed. When he comes back from place B to place
A, his speed is 60 miles per hour. If the average speed for the whole journey is 72 miles per hour, find

his speed when he travels from the place A to B.

Correct Option - 4

40 miles per hour1.
50 miles per hour2.
70 miles per hour3.
90 miles per hour4.
25.5 miles per hour5.

Que. 70 A boat takes 2 hrs. 36 min. to travel 20 km downstream and 10 km upstream. If it takes 3 hrs. 24 min.
to travel 10 km downstream and 20 km upstream, find the speed of the stream.

Correct Option - 4

50/3 km/hr1.
50/7 km/hr2.
50/9 km/hr3.
100/21 km/hr4.
100/27 km/hr5.

Que. 71 The distance between the two points A and B is 1500 km. One train starts from point A and another
from point B at the same time. If the two trains move in opposite direction, they meet in 10 hours. If

they move in the same direction, they meet in 25 hours. What is the ratio of the speeds of the two trains?

7 : 31.
2 : 72.
2 : 33.



Correct Option - 1

7 : 24.
4 : 35.

Que. 72 In a certain number of days, 10 workers were assigned to complete a task. Since some of the workers
have not worked all these days, only 25% of the task was completed after 15 days. From the 16th day

onwards when all 10 started working, the percentage of the total work that was completed at the end of the
assigned days was 62.5%. How many days were assigned initially?

Correct Option - 3

201.
222.
243.
254.
None of these5.

Que. 73 Pipes A & B can together fill a tank in 4 hours, while pipes C & D can individually empty the tank in
10 hours and 12 hours respectively. When the tank was empty, pipes A & B were simultaneously

opened. After an hour, pipe C was also opened. After the opening of pipe C, pipe D will be opened after how
much time such that the tank is only half filled in 3 hours? 

Correct Option - 3

1 hr. 3 min.1.
1 hr. 18 min.2.
1 hr. 24 min.3.
1 hr. 42 min.4.
1 hr. 54 min.5.

Que. 74 In how many ways is it possible to choose 2 white squares and 1 black square on a chess board so that
all the squares must not lie in the same row or column?

Correct Option - 5

126681.
64522.
96883.
284524.
154885.

Que. 75 In a bag there are 5 red balls, 6 blue balls and 7 white balls. Two balls are drawn from the bag one after
other without replacement. If the first ball turns out to be of blue colour, then 4 more blue coloured

balls are to be added to the bag. Find the probability that both the balls are of blue colour.

1. 2

7



Correct Option - 2

2. 1

7

3. 2

9

4. 1

9

None of these5.

Que. 76 Directions: The first pie-chart shows the percentage distribution of total number of balls (wet + dry) of
four companies A, B, C and D. The second pie-chart shows the percentage distribution of the total

number of wet balls of the companies. Study the pie-charts and answer the questions that follow.

The number of dry balls of company A is what percentage of the total number of wet balls of companies B, C and
D?

10%1.
12%2.



Correct Option - 2

14%3.
16%4.
18%5.

Que. 77 If the number of wet balls of another company E is 20% more than that of company D and the total
number of balls of company E is 25% more than that of company A, then the number of dry balls of

company E is what percentage of the total number of balls of company E?

Correct Option - 3

20%1.
30%2.
40%3.
50%4.
60%5.

Que. 78 If the total number of dry balls of company F is equal to that of company B, then find the difference
between the number of dry balls of company F and that of companies C and D.

Correct Option - 4

601.
702.
803.
904.
1005.

Que. 79 What is the ratio of the total number of dry balls of companies A & B and the total number of wet balls
of companies C & D?

Correct Option - 4

1 ∶ 31.
2 ∶ 32.
3 ∶ 43.
3 ∶ 54.
4 ∶ 55.

Que. 80 What is the difference between the average number of wet balls of companies B & C and he average
number of dry balls of companies A & D?

421.
462.
503.
544.



Correct Option - 4

585.

Que. 81 Where are the headquarters of World Bank located?

Correct Option - 1

Washington1.
New York2.
Geneva3.
Paris4.
None of these5.

Que. 82 Where is the Headquarter of the United Nations Educational, Scientific and Cultural Organisation
(UNESCO)?

Correct Option - 3

Washington D.C1.
London2.
Paris3.
Berlin4.
New York5.

Que. 83 Who was elected as the President of Pakistan on 4th September, 2018?

Correct Option - 2

Yahya Khan1.
Arif Alvi2.
Mamnoon Hussain3.
Asif Ali Zardari4.
Farooq Leghari5.

Que. 84 The rate at which banks borrow short-term loan from RBI?

Correct Option - 1

Repo rate1.
Reverse repo rate2.
MSF rate3.
Bank rate4.
None of the above5.

Que. 85 “Yudh Abhyas” is the joint military exercise between India and ________.



Correct Option - 2

Nepal1.
U.S.2.
Bangladesh3.
Russia4.
None of the above5.

Que. 86 The 2nd phase of the 'FAME India' scheme was launched on September 7, 2018. What does FAME
stand for?

Correct Option - 4

Faster Addition and Making of Hybrid Electric Vehicles 1.
First Adoption and Manufacturing of Hybrid Electric Vehicles 2.
Faster Adoption and Man-made Hybrid Electric Vehicles 3.
Faster Adoption and Manufacturing of Hybrid Electric Vehicles 4.
None of the above5.

Que. 87 Who is the Chairman of SEBI?

Correct Option - 4

Rajnish Kumar1.
Subhash Chandra Khuntia2.
Harsh Kumar Bhanwala3.
Madhabi Puri Buch4.
Ajay Tyagi5.

Que. 88 What is the full form of DRDO?

Correct Option - 3

Defence Research and Development Office1.
Defence Resource and Development Organisation2.
Defence Research and Development Organisation 3.
Defence Research and Drone Organisation4.
Defence Record and Development Organisation5.

Que. 89 India's first biofuel-powered flight was successfully tested by _________ on 27th August 2018

Indigo1.
Jet Airways2.
SpiceJet3.
GoAir4.
Air India Express5.



Correct Option - 3

Que. 90 ISRO has unveiled India's Gaganyaan programme for manned space flight before ________.

Correct Option - 4

20191.
20202.
20213.
20224.
20235.

Que. 91 The government of India proposed the merger of which three banks to create India’s third-largest bank?

Correct Option - 2

Bank of Baroda, Allahabad Bank and Oriental Bank of Commerce1.
Bank of Baroda, Dena Bank and Vijaya Bank2.
Andhra Bank, Bank of India and Central Bank of India3.
Canara Bank, Corporation Bank and Bank of Maharashtra4.
Bank of India, Indian Bank and Dena Bank5.

Que. 92 Who is the author of 'The Golden House'?

Correct Option - 3

V.S. Naipaul1.
Arundhati Roy2.
Salman Rushdie3.
Stephen King4.
JK Rowling5.

Que. 93 What is the meaning of “A” in PCA?

Correct Option - 1

Action1.
Addition2.
Agreement3.
Analysis4.
Assets5.

Que. 94 Where is the headquarters of Indian Institute of Petroleum?

Mumbai1.
Bhopal2.



Correct Option - 5

Lucknow3.
Chandigarh4.
Dehradun5.

Que. 95 In Basic Saving Bank Deposit Account (BSBDA), how many times one can withdraw money?

Correct Option - 3

101.
32.
43.
64.
There is no lomit5.

Que. 96 Which of the following stadiums has got the largest solar roof top installed ?

Correct Option - 4

Rajiv Gandhi International Cricket Stadium1.
Green Park Stadium2.
Wankhede Stadium3.
Brabourne Stadium4.
Sawai Mansingh Stadium5.

Que. 97 Mahe, the smallest district of India, is situated in which place?

Correct Option - 2

Maharashtra1.
Puducherry2.
Lakshadweep3.
Tamil Nadu4.
West Bengal5.

Que. 98 According to Reserve Bank of India, what percent of junked Rs. 500 And Rs. 1,000 Notes have
returned to banking system?

Correct Option - 5

90%1.
100%2.
99%3.
98.7%4.
99.3%5.



Que. 99 Which of the following countries are member of the North American Free Trade Agreement (NAFTA)?

Correct Option - 1

Mexico1.
Panama2.
Cuba3.
Venezuela4.
Bahamas5.

Que. 100 Free and compulsory education is provided for children upto which age?

Correct Option - 4

6 Years1.
18 Years2.
16 Years3.
14 Years4.
8 Years5.

Que. 101 What is the current rate of Statutory liquidity ratio (SLR)April 2019?

Correct Option - 2

10%1.
18.75%2.
22%3.
25%4.
40%5.

Que. 102 As per 4th Advance Estimates, what is the estimated production of food grains during 2017-18?

Correct Option - 5

275 miilion tonnes1.
300 miilion tonnes2.
200 miilion tonnes3.
250 miilion tonnes4.
285 million tonnes5.

Que. 103 Who among the following is not a member of Monetary Policy Committee?

Dr. Chetan Ghate1.
Dr. Pami Dua2.
Arun Jaitley3.
Dr. Viral V. Acharya4.



Correct Option - 3

Dr. Urjit R. Patel5.

Que. 104 Bajrang Punia, who won the Gold Medal in the Asian Games 2018, is associated with which among
the following sports?

Correct Option - 3

Boxing 1.
Judo 2.
Wrestling 3.
Table Tennis4.
None of the above 5.

Que. 105 Biplab Kumar Deb is the Chief Minister of which among the following states in India?

Correct Option - 1

Tripura1.
Nagaland 2.
Jharkhand 3.
Meghalaya4.
Manipur 5.

Que. 106 According to the MGNREGA Scheme, workers should get guaranteed employment for a minimum of
________ every year. 

Correct Option - 2

150 days1.
100 days2.
125 days3.
130 days4.
There is no such minimum days criterion in the scheme. 5.

Que. 107 Justin Trudeau is the Prime Minister of which among the following countries?

Correct Option - 3

Peru1.
Honduras2.
Canada3.
Hungary 4.
None of the above 5.



Que. 108 The Padma Bhushan Awards are announced on which among the following days every year by the
Government of India?

Correct Option - 2

Independence Day1.
Republic Day 2.
Birth Anniversary of Mahatma Gandhi 3.
Army Day 4.
There is no such specific day 5.

Que. 109 Dr Harsh Vardhan is the present Union Minister of which among the following ministries?

Correct Option - 4

Ministry of Science and Technology 1.
Ministry of Earth Sciences 2.
Ministry of Environment, Forest and Climate Change 3.
Both 1 and 24.
All 1, 2 and 35.

Que. 110 According to the data released by the Central Statistics Office, the Indian Economy has seen the GDP
growth of ________ in the first quarter of 2018-19. 

Correct Option - 5

8.3%1.
8.5%2.
8.9%3.
9.5%4.
8.2%5.

Que. 111 The International Red Cross Day is celebrated on which among the following days every year all over
the world?

Correct Option - 4

May 101.
May 122.
May 153.
May 84.
None of the above 5.

Que. 112 The Government of India recently formed a high-level committee in order to look into the problem of
stressed assets in the Public Sector Banks in the country. Who among the following was made the

Chairman of this committee?



Correct Option - 2

Usha Anantsubramaniam1.
Sunil Mehta2.
Arundhati Bhattacharya3.
HR Khan 4.
R Gandhi 5.

Que. 113 Mr. Ravneet Gill is the CEO of which among the following private sector banks in India?

Correct Option - 1

Yes Bank1.
Kotak Mahindra Bank2.
IDFC Bank3.
Standard Chartered Bank4.
None of the above5.

Que. 114 In June and July 2018, the players and the assistant coach of a football team from which among the
following countries were trapped inside a cave?

Correct Option - 2

Malaysia1.
Thailand 2.
Indonesia 3.
Singapore 4.
South Korea 5.

Que. 115 Krone is the official currency of which among the following countries?

Correct Option - 1

Denmark 1.
Turkey2.
Chile3.
Paraguay4.
Brazil 5.

Que. 116 Virat Kohli has scored ________ international centuries in the Test Cricket from 72 test matches
played by him so far. 

251.
262.
293.
244.



Correct Option - 4

195.

Que. 117 According to the Ministry of Civil Aviation Guidelines, which among following drones will not
require any permission to fly in the country from December 01, 2018?

Correct Option - 5

Nano Drones 1.
Micro Drones 2.
Small Drones 3.
Both 1 and 34.
All 1, 2 and 35.

Que. 118 The term 'backheel' is associated with which among the following sports?

Correct Option - 1

Football 1.
Hockey 2.
Volleyball 3.
Basketball 4.
Handball 5.

Que. 119 The G20 Summit for the year 2019 is going to be held in ________. 

Correct Option - 2

Shanghai, China 1.
Osaka, Japan 2.
New Delhi, India 3.
Seoul, South Korea 4.
Islamabad, Pakistan 5.

Que. 120 Who among the following former Indian cricketers has recently turned down the honorary Doctorate
Degree from Jadavpur University?

Correct Option - 5

Rahul Dravid1.
Sunil Gavaskar2.
Ajit Agarkar3.
Sourav Ganguly4.
Sachin Tendulkar 5.



Que. 121 In the following question, one part of the sentence may have an error. Find out which part of
the sentence has an error and click the option corresponding to it. If the sentence is free from

error, click the “No error” option.
Japanese multinational Sony had unveiled (1) the IMX586 stacked CMOS image sensor for (2) smartphones,
which it claims has the (3) world's highest pixel count with 48 megapixels. (4) 

Correct Option - 1

11.
22.
33.
44.
No error5.

Que. 122 In the following question, one part of the sentence may have an error. Find out which part of
the sentence has an error and click the option corresponding to it. If the sentence is free from

error, click the “No error” option.
Alibaba, the startup, (1) who already counts Ant Financial (2) Services as an investor, is expected to (3) close the
next round of funding within weeks. (4)

Correct Option - 2

11.
22.
33.
44.
No error5.

Que. 123 In the following question, one part of the sentence may have an error. Find out which part of
the sentence has an error and click the option corresponding to it. If the sentence is free from

error, click the “No error” option.
The state-ran Nalanda Medical College (1) and Hospital in Bihar's Patna was severely (2) waterlogged after
heavy rainfall in the city, with (3) fish seen swimming in the ICU on Sunday. (4)

Correct Option - 1

11.
22.
33.
44.
No error5.

Que. 124 In the following question, one part of the sentence may have an error. Find out which part of
the sentence has an error and click the option corresponding to it. If the sentence is free from

error, click the “No error” option.
India's 1983 Cricket World Cup-winning captain (1) Kapil Dev had been selected in the national golf team to (2)
take part in the 2018 Asia-Pacific Senior Amateur (3) Championship, which will be held from October 17 to 19



in Japan. (4)

Correct Option - 2

11.
22.
33.
44.
No error5.

Que. 125 In the following question, one part of the sentence may have an error. Find out which part of
the sentence has an error and click the option corresponding to it. If the sentence is free from

error, click the “No error” option.
A man named Timothy Buchanan from California has (1) claimed that a real-life spider has got struck between
his iMac's glass (2) display and the screen. He suspected that the spider must have (3) reached the monitor after
crawling in through the vents on the back of the computer. (4)

Correct Option - 2

11.
22.
33.
44.
No error5.

Que. 126 In the following question, one part of the sentence may have an error. Find out which part of
the sentence has an error and click the option corresponding to it. If the sentence is free from

error, click the “No error” option.
Digital payment’s major Paytm's parent company One97 (1) Communications is planning to build a new campus
in Noida's Sector 137 that will (2) serve as Paytm's headquarters. Spread across 10 acres, (3) the new campus is
expected to house more than 15,000 employees. (4)

Correct Option - 1

11.
22.
33.
44.
No error5.

Que. 127 In the following question, one part of the sentence may have an error. Find out which part of
the sentence has an error and click the option corresponding to it. If the sentence is free from

error, click the “No error” option.
American space agency NASA, that (1) was founded on July 29, 1958, has an Office of (2) Planetary Protection
that function to 'protect (3) Earth's biosphere in case life does exist elsewhere'. (4)

11.



Correct Option - 3

22.
33.
44.
No error5.

Que. 128 Read the passage carefully and answer the questions that follow. Some words may be
highlighted for your attention.

For big brands, the difference can be staggering. When Mercedes-Benz shared a post on Facebook recently about
the premiere of its new A-Class, the update quickly garnered more than 10,000 Likes. Impressive … until you
consider that the very same image on Instagram generated more than 150,000 Likes—15 times the response!
Granted, Mercedes is a visual brand and Instagram is a visual platform. (And engagement isn’t everything—
Facebook, the world’s most popular social network, still enjoys an important edge in overall reach.) But the
luxury automaker isn’t the only company seeing eye-popping results on Instagram. The photo-based network
added 100 million users in just 5 months —rivalling Facebook’s growth numbers—and now boasts 800 million
monthly users. With an audience that skews young (a majority of users reported to be under 30) and is also
fiercely brand conscious (53% of users follow brands), Instagram is quietly emerging as the new home for
companies seeking an impact on social media.
The dust has yet to settle on the impact of Facebook’s big decision in January to revamp its news feed—
prioritising 'meaningful interactions,' especially updates from friends and family while limiting content from
brands and publishers. But, for companies, it’s likely to only accelerate a shift of resources and awareness to
Facebook’s younger sibling. For businesses seeking to stay ahead of the social curve, here’s why doubling down
on Instagram makes sense this year.
Instagram is a skilled omnivore when it comes to devouring other networks’ features. A social network with
nearly a billion users isn’t supposed to be innovative and turn-on-a-dime adaptable. But Instagram has shown
itself to be just that. The 'Stories' concept, a daily disappearing montage of users’ photos and videos, may have
originated with Snapchat, but Instagram has taken it mainstream since copying it 2016- adding more than 300
million users in the process.
Instagram has also been quick to embrace everything from live video and private messaging functionality to
Snapchat-inspired 'filters' for creative selfies. Plus, despite some initial user resistance, the network has pivoted
in recent years from a chronological stream to an algorithmic news feed—a la Facebook—giving developers and
advertisers more fine-grained control over what users see. What does all of this mean for companies? Instagram’s
ability to continually reinvent itself promises to pay off in the form of sustained user growth going forward.
Engagement for brands on Instagram is unparalleled. The differential comes down to Instagram’s DNA: The
network is and has always been a visual-first platform. Facebook, with its 2 billion-plus users, is obviously the
undisputed champion of 'reach' in the social media universe. But Instagram holds the title for an arguably more
critical metric—'engagement.' While definitions vary, engagement embraces the degree to which users actually
interact with content—liking, sharing and commenting, rather than just passively looking. A recent study showed
that brands are getting three times more engagement on Instagram when compared apples-to-apples with
Facebook. On Twitter, meanwhile, engagement rates can be less than 1/30th what they are on Instagram.

Choose the option nearest in meaning to 'Montage' as used in the passage.

Hodgepodge1.
Gallimaufry2.
A rapid succession of images3.
Producing a new composite whole from fragments of pictures, text, or music.4.
None of these5.



Correct Option - 3

Que. 129 What is the main theme of the passage?

Correct Option - 2

How Facebook is expanding its user base1.
Why Instagram is the emerging social giant for the future to come2.
Facebook is more of a visual platform than texting platform3.
Facebook is the most 'engaging' social media giant4.
None of these.5.

Que. 130 Which of the following statements is wrong about Instagram?

Correct Option - 5

Instagram’s ability to continually reinvent itself promises to pay off in the form of sustained user growth
going forward.

1.

Instagram has also been quick to embrace everything from live video and private messaging functionality
to Snapchat-inspired 'filters' for creative selfies. 

2.

A recent study showed that brands are getting three times more engagement on Instagram when
compared apples-to-apples with Facebook.

3.

 For businesses seeking to stay ahead of the social curve, investing in Instagram can be beneficial.4.
None of these5.

Que. 131 Choose the word opposite in meaning to 'Revamp'.

Correct Option - 4

Renovate1.
Overhaul2.
Ameliorate3.
Stabilise4.
Recast5.

Que. 132 According to the passage, why is Instagram being more preferred over Facebook.

Correct Option - 3

Instagram is comparatively new as compared to Facebook.1.
Many celebrities can be found on Instagram.2.
People feel more 'engaged' on Instagram.3.
Facebook news policy is not reliable.4.
Instagram has comparatively fewer ads than Facebook.5.

Que. 133 "The differential comes down to Instagram’s DNA". What does the statement mean?



Correct Option - 4

The decentralised network authority of Instagram is in the hands of its users.1.
Facebook and Instagram vary in terms of only network sharing.2.
Twitter and Instagram share more common features.3.
Instagram is more of a visual platform as compared to Facebook.4.
All of the above5.

Que. 134 Choose the word nearest in meaning to 'Gamut'.

Correct Option - 5

Range1.
Spectrum2.
Variety3.
Panorama4.
All of the above5.

Que. 135 Engagement for brands on Instagram is __________.

Correct Option - 2

Less1.
Unparalleled2.
All over3.
New4.
None of these5.

Que. 136 Why does Instagram have an edge over others?

Correct Option - 1

Because of its rapid innovations and adaptations.1.
It is more appealing.2.
Facebook gives you a scope to choose from a wide range of reactions.3.
On Instagram, you can also show 'dislike', 'contempt' and 'hatred'.4.
All of the above5.

Que. 137 What all features has Instagram adapted from other networks?

Stories1.
Private messaging2.
Live video3.
None of the above4.
All 1, 2 and 35.



Correct Option - 5

Que. 138 Below, a passage is given with five blanks labelled (A)-(H). Below the passage, four options
are given for each blank. Choose the word that fits each blank most appropriately in the

context of the passage, and mark the corresponding answer.
With patriarchy being so deeply __(A)__ both in our __(B)__ and our laws, Indians have long since accepted the
current social situation as the __(C)__ one. Even in the most __(D)__ families, daughters are still__(E)__ to far
lesser than sons, from playtime and education to choosing a life partner and __(F)__ property. No sooner than
they are of age, girls are __(G)__ to help out in household duties -- largely __(H)__ and unrecognised tasks that
they’re meant to fulfil throughout their lives. 

Which of the following words most appropriately fits the blank labelled (A)?

Correct Option - 3

Accept1.
Deposed2.
Entrenched3.
Reconciled4.
Consumed5.

Que. 139 Which of the following words most appropriately fits the blank labelled (B)?

Correct Option - 5

Opinions1.
Mood2.
Position3.
Feelings4.
Mindset5.

Que. 140 Which of the following words most appropriately fits the blank labelled (C)?

Correct Option - 2

Acceptable1.
Default2.
Norm3.
Common4.
Rule5.

Que. 141 Which of the following words most appropriately fits the blank labelled (D)?

Conventional1.
Normal2.
Conservative3.
Traditional4.



Correct Option - 5

Progressive5.

Que. 142 Which of the following words most appropriately fits the blank labelled (E)?

Correct Option - 4

Qualified1.
Sanctioned2.
Allowed3.
Entitled4.
Permitted5.

Que. 143 Which of the following words most appropriately fits the blank labelled (F)?

Correct Option - 5

Receiving1.
Bequeathing2.
Succeeding3.
Ceding4.
Inheriting5.

Que. 144 Which of the following words most appropriately fits the blank labelled (G)?

Correct Option - 3

Accepted1.
Excepted2.
Expected3.
Intercepted4.
Accosted5.

Que. 145 Which of the following words most appropriately fits the blank labelled (H)?

Correct Option - 1

Unpaid1.
Professional2.
Salaried3.
Compulsory4.
Free5.

Que. 146 The question below contains four scattered segments of a sentence.Indicate the sequence which
correctly assembles the segments and completes the sentence.



A. Desertification (UNCCD) defines it
B. and dry subhumid areas  resulting from various factors, 
C. as “land degradation in arid, semiarid,
D. including climatic variations and human activities”
 

Correct Option - 1

acbd1.
abcd2.
adcb3.
bcad4.
bdca5.

Que. 147 The question below contains four scattered segments of a sentence. Indicate the sequence which
correctly assembles the segments and completes the sentence.

A. Adam Smith was well acquainted with the work
B. of most physicists concerning
C. the earth and the heavens,
D. from Antiquity to the eighteenth century

Correct Option - 1

ABCD1.
DCBA2.
BDAC3.
ABDC4.
CDBA5.

Que. 148 The question below contains four scattered segments of a sentence. Indicate the sequence which
correctly assembles the segments and completes the sentence.

A. which was held to be a perfect geometric figure
B. The Greek philosophers 
C. (Plato, Eudoxus, Aristotle) liked to think
D. that the world could be represented as a sphere

Correct Option - 1

BCDA1.
ABCD2.
BDAC3.
DBAC4.
CBAD5.

Que. 149



The question below contains four scattered segments of a sentence. Indicate the sequence which correctly
assembles the segments and completes the sentence.
A. the way for the fourth great model, 
B. According to Smith, 
C. it is Descartes’s system that paved
D. that of Newton

Correct Option - 3

DCAB1.
CBAD2.
BCAD3.
BDAC4.
ACBD5.

Que. 150 The question below contains four scattered segments of a sentence. Indicate the sequence which
correctly assembles the segments and completes the sentence.

A. as capable of explaining
B. The Newtonian system is described
C. observed phenomena with a more limited number of basic principles
D. and of predicting future developments accurately

Correct Option - 3

DBCA1.
CDAB2.
BACD3.
DBAC4.
ADBC5.

Que. 151 In the following sentence, four words have been printed in bold. One of these words might
either be wrongly spelt or inappropriate in the context of the sentence. Find out the word that is

inappropriate or wrongly spelt, if any. If the words printed in bold are correctly spelt and appropriate in
the context of the sentence then mark (5) i.e. ‘all correct’ as your answer.
The Election Commission should not allow room for controversy that erodes its image and opens doors for
citicism. 

Correct Option - 4

Commission1.
Controversy2.
Erodes3.
Citicism4.
All correct5.



Que. 152 In the following sentence, four words have been printed in bold. One of these words might
either be wrongly spelt or inappropriate in the context of the sentence. Find out the word that is

inappropriate or wrongly spelt, if any. If the words printed in bold are correctly spelt and appropriate in
the context of the sentence then mark (5) i.e. ‘all correct’ as your answer.
The state has sought to boost this component of the prime minister’s scheme by launching a separate public-
private partnership modal of affordable housing in January.

Correct Option - 3

Sought1.
Launching2.
Modal3.
Affordable4.
All correct5.

Que. 153 In the following sentence, four words have been printed in bold. One of these words might be
wrongly spelled. Find out the word that is wrongly spelled, if any. If the words printed in bold

are correctly spelled then mark (5) i.e. ‘all correct’ as your answer.
The trip was the latest turn in a diplomatic saga that saw Trump and Kim threatan each other with a nuclear
war last year only for them to hold their historic summit in Singapore.

Correct Option - 2

Saga1.
Threatan2.
Nuclear3.
Historic4.
All correct5.

Que. 154 In the following sentence, four words have been printed in bold. One of these words might be
wrongly spelled. Find out the word that is wrongly spelled, if any. If the words printed in bold

are correctly spelled then mark (5) i.e. ‘all correct’ as your answer.
Adults up to age 45 can now be vaccinated against human papillomavirus (HPV), reducing their chances of
getting cervical, oral and other cancers.​

Correct Option - 5

Vaccinated1.
Reducing2.
Oral3.
Cancers4.
All correct5.

Que. 155 In the following sentence, four words have been printed in bold. One of these words might
either be wrongly spelt or inappropriate in the context of the sentence. Find out the word that is

inappropriate or wrongly spelt, if any. If the words printed in bold are correctly spelt and appropriate in
the context of the sentence then mark (5) i.e. ‘all correct’ as your answer.



Decades-old advice about alcohol has recently come under fire, with two recent studies sugesting that even a
moderate drinking habit may raise the risk of early death.

Correct Option - 3

Decades1.
Recently2.
Sugesting3.
Moderate4.
All correct5.

Que. 156 In the following question, five sentences are given. In each sentence, a word is highlighted.
Identify the sentence which uses the highlighted word correctly. If all them are incorrect, choose

'All are incorrect' as your answer.

Correct Option - 4

Designer and illustrator, Jez Burrows saw substantially in those single sentences, and decided to weave
them together to create short stories.

1.

India substantially appears as a million bodies walking in the muteness of silence.2.
She was not feeling well, substantially she did not go to work today.3.
In the cold weather, the temperature in Nagpur and the other hot districts is about the same as
in Calcutta and substantially higher than that in northern India.

4.

All are incorrect5.

Que. 157 In the following question, five sentences are given. In each sentence, a word is highlighted.
Identify the sentence which uses the highlighted word correctly. If all them are incorrect, choose

'All are incorrect' as your answer.

Correct Option - 2

Hitherto she was exhausted, she couldn't fall asleep.1.
All attempts to make helium enter into stable chemical union have hitherto proved unsuccessful.2.
He couldn't hitherto take a walk in peace.3.
Hitherto, I don't think finding these solutions means an end to all our troubles. 4.
All are incorrect5.

Que. 158 In the following question, five sentences are given. In each sentence, a word is highlighted.
Identify the sentence which uses the highlighted word correctly. If all them are incorrect, choose

'All are incorrect' as your answer.

Correct Option - 1

Because he organised his sources by theme, it was easier for his readers to follow.1.
Whether that desire was conveyed by him or organised in her head was a mystery.2.
It is generally believed that life organised in water, and that the earliest plants were Algae.3.
He organised his degree earlier this year.4.
All are incorrect5.



Que. 159 In the following question, five sentences are given. In each sentence, a word is highlighted.
Identify the sentence which uses the highlighted word correctly. If all them are incorrect, choose

'All are incorrect' as your answer.

Correct Option - 4

When the teacher was collating the answer sheets, she found a lot of errors.1.
My teammate asked me to collate that information from the manager.2.
'Collate!', the protesters shouted.3.
When all of the surveys have been collected, we’ll collate them according to gender so we can easily
compare male and female opinions

4.

All are incorrect5.

Que. 160 In the following question, five sentences are given. In each sentence, a word is highlighted.
Identify the sentence which uses the highlighted word correctly. If all them are incorrect, choose

'All are incorrect' as your answer.

Correct Option - 1

The vascular tissue is typically separable into distinct collateral bundles.1.
They would go everywhere together; they were separable.2.
This material is available in a separable range of colours.3.
Nikita and Mahima drove separable cars to Agra.4.
All are incorrect5.

Que. 161 What type of switching is used by the internet?

Correct Option - 1

Packet switching1.
Circuit switching2.
Telephone switching3.
Telex switching4.
None of these5.

Que. 162 What is the World Wide Web?

Correct Option - 3

Is another name for the Internet1.
Worldwide connection for computers2.
A collection of linked information residing on computers connected by the Internet3.
A collection of worldwide information4.
None of these5.

Que. 163 If the user wants to delete a folder in the disk operating system, he will use the ________ command.



Correct Option - 2

REN1.
DEL2.
CD3.
MD4.
None of these5.

Que. 164 When a word file is saved, the default file extension for it is ____.

Correct Option - 3

WRD1.
TXT2.
DOC3.
FIL4.
None of these5.

Que. 165 What does ‘G’ stands for in ‘GUI’?

Correct Option - 1

Graphical 1.
Graphics2.
Global3.
Group4.
Gopher5.

Que. 166 Which of the following elements are used in an e-mail to express emotions or feelings clearly?

Correct Option - 4

Acronyms1.
Abbreviations2.
Rich text3.
Emoticons or smileys4.
All of these5.

Que. 167 Which key will open an Open dialogue box

F121.
Alt + F122.
F53.
Ctrl + F124.
Shift + F125.



Correct Option - 4

Que. 168 External devices such as printers, keyboards and modems are known as

Correct Option - 2

Add-on devices1.
Peripherals2.
Extra hardware devices3.
PC expansion slot add-ons4.
Special-buys5.

Que. 169 Which of the following statements is incorrect about a message-switched network?

Correct Option - 4

It reduces traffic congestion.1.
It allows prioritizing of messages.2.
It allows broadcasting of messages.3.
It is an inexpensive network.4.
It is not compatible with videoconferencing.5.

Que. 170 Which option is used to locate a specific word/group of words in a document?

Correct Option - 2

Replace1.
Find2.
Lookup3.
Search4.
None of these5.

Que. 171 Which is not a storage device?

Correct Option - 4

A CD1.
A DVD2.
A floppy disk3.
A printer4.
A Hard disk5.

Que. 172 What will happen when you press F12 in micosoft word?

Save As dialog box will open1.
Save dialog box will open2.



Correct Option - 1

Open dialog box will open3.
Close dialog box will open4.
None of the above5.

Que. 173 Microsoft’s Messenger allows users to 

Correct Option - 3

bypass a browser to surf the web1.
create a blog2.
communicate via direct live communion 3.
identify and eliminate spam4.
make graphic presentations 5.

Que. 174 FTP stands for

Correct Option - 1

File Transfer Protocol1.
Fast Text Processing2.
File Transmission Program3.
Fast Transmission Processor4.
None of the above5.

Que. 175 The shortcut key Ctrl+F in Word is used for

Correct Option - 4

To view document in full view1.
To open the Formula dialog box2.
To save the file3.
To open the Find box4.
None of these5.

Que. 176 ________ can be moved up/down or left/right in a document file.

Correct Option - 4

Title Bar1.
Status bar2.
Formula Bar3.
Scroll Bar4.
None of these5.



Que. 177 Which type of software is a operating system?

Correct Option - 3

Communication1.
Application2.
System3.
Word-processing4.
None of these5.

Que. 178 A feature that automatically corrects common spelling errors is called ________.

Correct Option - 3

Auto Fit1.
Auto Format2.
Auto Correct3.
Auto Lock4.
None of these5.

Que. 179 To display the contents of a folder in Windows Explorer you should _______.

Correct Option - 1

double click on it1.
collapse it2.
name it3.
give a password4.
rename it5.

Que. 180 Which of the following groups consist of only input devices?

Correct Option - 4

Mouse, Keyboard, Monitor 1.
Mouse, Keyboard, Printer2.
Mouse, Keyboard, Plotter3.
Mouse, Keyboard, Scanner4.
None of these5.

Que. 181 What happens when the user Presses CTRL+9 in Excel?

Prints 91.
Prints2.
Prints 9 followed by spaces3.
Inserts 9 cells at the current location4.



Correct Option - 5

Hides the current row5.

Que. 182 Windows logo key + _______ will lock the screen.

Correct Option - 2

I1.
L2.
K3.
A4.
G5.

Que. 183 Operating system runs on computer __________and serves as __________ for other software to run
on.

Correct Option - 3

Software, hardware1.
Hardware, software2.
Hardware, platform3.
Platform, hardware4.
None of the above5.

Que. 184 The shortcut key to print a document is ________.

Correct Option - 2

Ctrl + A1.
Ctrl + P2.
Ctrl + C3.
Ctrl + V4.
None of the above5.

Que. 185 Which of the following uses a handheld operating system?

Correct Option - 5

A supercomputer1.
A personal computer2.
A laptop3.
A mainframe4.
A PDA5.

Que. 186 Which of the following statements is false in the context of client/server network?



Correct Option - 3

It is expensive to set up.1.
It requires a specialized server.2.
It is a slow network.3.
It is highly secure.4.
It is a congested network.5.

Que. 187 Storage that retains its data after the power is turned off is referred to as

Correct Option - 2

Volatile storage1.
Non-volatile storage2.
Sequential storage3.
Direct storage4.
None of these5.

Que. 188 What kind of storage is a Hard disk drive?

Correct Option - 2

Flash1.
Nonvolatile2.
Temporary3.
volatile4.
None of these5.

Que. 189 MS-DOS is a ____________ operating system.

Correct Option - 3

point-and-click1.
user-friendly2.
command-driven3.
Mac4.
None of these5.

Que. 190 HTML stands for__

Hyper Text Making Links1.
Hyper Text Markup Language2.
Higher Textual Marking of Links3.
Hyper Text Mixer of Links4.
None of these5.



Correct Option - 2

Que. 191 To restart the computer, following combination of keys is used.

Correct Option - 5

Del + Ctrl1.
Backspace + Ctrl2.
Esc + Ctrl3.
Insert + Esc4.
Ctrl + Alt + Del5.

Que. 192 In most Microsoft programs, what does ‘Alt+F4’ do _________.

Correct Option - 2

 Opens the program1.
Ends the program2.
Run the program3.
Modify the program4.
None of these5.

Que. 193 Which is the most recent version of Internet protocol ?

Correct Option - 1

IPv61.
IP42.
IP23.
IP04.
IP95.

Que. 194 _______ is a form of permanent memory that holds all the instructions the computer needs to start up
does not get erased when the power is turned off.

Correct Option - 4

The network Interface Card (NIC)1.
The CPU2.
RAM3.
ROM4.
None of these5.

Que. 195 The full form of USB is _____________.

Universal Security Block1.



Correct Option - 4

Ultra Serial Block2.
United Service Block3.
Universal Serial Bus4.
None of these5.

Que. 196 Which of the following is the correct sequence of compilation?

Correct Option - 1

Compilation, Assembly, Linking1.
Assembly, Linking, Compilation2.
Linking, Assembly, Compilation3.
Assembly, Compilation, Linking4.
Compilation, Linking, Assembly5.

Que. 197 Internet data is broken up as

Correct Option - 2

Fixed length packets1.
Variable length packets2.
Not packetized3.
64 bytes packets4.
None of these5.

Que. 198 What is the connection known as which uses phone lines and modems?

Correct Option - 5

Digital1.
Dial-up2.
Broadband3.
Dish4.
Both 2 and 35.

Que. 199 URL stands for _______.

Correct Option - 1

Uniform Resource Locator1.
Universal Research List.2.
Uniform Research Locator3.
Universal Resource List4.
None of the above5.



Que. 200 Which of the following is a programming language for creating special programs like applets?

Correct Option - 1

Java1.
Cable2.
Domain name3.
Net4.
COBOL5.
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